

# Unitarity of Burau, take II

June-06-14 1:03 PM

$$U_i = \begin{pmatrix} I_i & & & \\ & 1-t & t & \\ & 1 & 0 & \\ & & & I_{n-i-1} \end{pmatrix}, U_i^{-1} = \begin{pmatrix} I_i & & & \\ & 0 & 1 & \\ & \bar{t} & 1-\bar{t} & \\ & & & I_{n-i-1} \end{pmatrix}. \text{Unitarity: } \bar{U} \Omega_n U^T = \Omega_n \text{ with } \Omega_n = \begin{pmatrix} 1 & 0 & \dots & 0 \\ 1-t & 1 & \dots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ 1-t & 1-t & \dots & 1 \end{pmatrix}$$

$$\sqrt{\Omega_n^T} \bar{U}^T = \Omega_n^T \Leftrightarrow \bar{U}^{-1} \Omega_n = \Omega_n \sqrt{U^T}$$

Let  $B = [a \text{ block of } 1\text{'s}]$ .

$$\bar{U}^{-1} \Omega_n = \begin{pmatrix} I & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & t & 1-t & 0 \\ 0 & 0 & 0 & I \end{pmatrix} \begin{pmatrix} \Omega & 0 & 0 & 0 \\ \underline{(1-t)B} & 1 & 0 & 0 \\ \underline{(1-t)B} & 1-t & 1 & 0 \\ \underline{(1-t)B} & \underline{(1-t)B} & \underline{(1-t)B} & \Omega \end{pmatrix}$$

$$= \begin{bmatrix} \Omega & 0 & 0 & 0 \\ \underline{(1-t)B} & 1-t & 1 & 0 \\ \underline{(1-t)B} & \underline{1-t+t^2} & 1-t & 0 \\ \underline{(1-t)B} & \underline{(1-t)B} & \underline{(1-t)B} & \Omega \end{bmatrix}$$

1:  $t + (1-t)^2 = 1-t+t^2$   
 2: Use 2-green equality.

$$\Omega_n U^T = \begin{pmatrix} \Omega & 0 & 0 & 0 \\ \underline{(1-t)B} & 1 & 0 & 0 \\ \underline{(1-t)B} & 1-t & 1 & 0 \\ \underline{(1-t)B} & \underline{(1-t)B} & \underline{(1-t)B} & \Omega \end{pmatrix} \begin{pmatrix} I & 0 & 0 & 0 \\ 0 & 1-t & 1 & 0 \\ 0 & t & 0 & 0 \\ 0 & 0 & 0 & I \end{pmatrix}$$

$$= \begin{bmatrix} \Omega & 0 & 0 & 0 \\ \underline{(1-t)B} & 1-t & 1 & 0 \\ \underline{(1-t)B} & \underline{1-t+t^2} & 1-t & 0 \\ \underline{(1-t)B} & \underline{(1-t)B} & \underline{(1-t)B} & \Omega \end{bmatrix}$$

June 27 side:

$$\frac{t_i}{1-t_i} + (1-t_i) = \dots$$

$$1(1-t_i) + \frac{1}{1-t_i+0}$$

$$t + (1-t)(1-s) = 1-s+ts$$